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RESENJA ZADATAKA

1.a)l,,=500LA; Vg =-2V; V,, =5V.

Vv
b)a=2=g,(RIIR)=75;  gn=MmS.
C) Vomin = Vp =Vp =6V Vo = IDl(RD | RP)= 375V ; Ve =0;
memax = min{vpmax Vo Ve _VPmin} =375

4.
v[V]=0=const, za-5V <v; <-4.3V(IOP1 - neg. zaéenje, IOP2 - poz. zasnje, D -ON);
V[V]=Vv[V]+43, za-4.3V<v, <-3.05V(IOP1 - lin. rezim, , IOP2 - poz. zésnje, D -ON);

v[V] :%VG[V] + 2267, za—3.05V< v, < 1.36V(IOP1 - lin. rezim, IOP2 - lin. rezim -ON);

v[V]=2v[V], zal.36V< v, < 1.875V(IOP1 - lin. rezim, , IOP2 - lin. rezinD) -OFF);
v[V]=2v[V], zal.875V=<y, < 2.5V (IOP1 - lin. rezim, , IOP2 - neg. zésnje, D -OFF);
v[V]=5V =const, za 25V < v, < 5V (IOP1 - poz. zasenje, IOP2 - neg. z&sinje, D -OFF).

IOP1 - donji IOP
IOP2 - gornji IOP



